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The Origin and Development of Macro Economics
Macro Economics is a branch of economics that deals with the performance, structure, and
behavior of a national economy as a whole. Macroeconomists seek to understand the
determinants of aggregate trends in an economy with particular focus on national
income, unemployment, inflation, investment, and international trade. In
contrast, microeconomics is primarily focused on the determination of prices and the role of
prices in allocating scarce resources. In particular, the Great Depression of the 1930s led
economists to try to understand its causes, and thus to be able to avoid similar situations
causing such suffering in the future.
Development of Modern Macro Economics
Macro Economics evolves with the evolution of the economy. Macroeconomic theories
change over time. They keep on changing because major economic events — such as the
Great Depression of the 1930s the Great Inflation of the 1970s — bring into focus problems
within a prevailing theory. Eventually the theory is modified. Different schools of
macroeconomic thought have emerged since the publication of Keynes’ General Theory in
1936. The reason is that there is wide disagreement among economists. There is not much
disagreement on theoretical views. But there are often heated debates over the
implementation of macroeconomic policy. Economists disagree mainly about the way the
theories should be applied to some current problems.
Definition of "Macro Economics’
Definition: Macro Economics is the branch of economics that studies the behavior and
performance of an economy as a whole. It focuses on the aggregate changes in the economy
such as unemployment, growth rate, gross domestic product and inflation.
Definition
Macro Economics deals not with individual quantities as such but aggregates of these

quantities, not with individual incomes but national income, not with individual output but.
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Economics: The Basics
There are two major branches of economics:
Microeconomics and Macro Economics
In short, microeconomics is the study of individual economic units of the economy, while
macro economics is the study of the economy as a whole and its totality. There are two main
schools of economic thoughts. These schools are 1. Classical economics or 2. Keynesian
economics.Macro economics before Keynes is sometimes called “classical” economics.
According to classical economics:

1. An economy as a whole always functions at a level of full employment, due to free play

of market forces in a free economy.

2. Supply creates its own demand.
This classical doctrine of automatic full employment was largely accepted until the early
1930s, when the Great Depression Occurred. The Great Depression of 1929-1933 exploded
the myth that an automatic working of market mechanisms would ensure an equilibrium level
of income consistent with full employment of resources. There was a persistent fall in the
level of output, income, and employment during the Great Depression, even though the
United States and other western countries were highly industrialised, with well-developed
basic industries, electric power, means of transport and communication, banks, and other
financial institutions. The Classicals failed to explain this situation during The Great
Depression.
The Birth of Macro Economics
In 1936, well-known British economist J. M. Keynes introduced his own theory and wrote his
famous book The General Theory of Employment, Interest and Money, which birthed the
Keynesian revolution, the second primary school of economic thought. Keynes criticised the
Classical assumption of full employment and developed modern macro economics: economic
theory that attempts to connect money supply, employment, business cycles, and government
policy. The incentive for development of modern macro economics came from the Great
Depression of the early 1930s. Macro economics addresses the desire to control business
cycles in advancing economies and the need to develop backward economies.
Meaning of Macro Economics
Macro economics is the study of the aggregates and averages of the entire economy. It's the
part of economic theory which studies the economy in its totality or as a whole.In
microeconomics, we study the individual economic units like a household, a firm, or an

industry. However, in macro economics we study the whole economic system like national
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income, total savings and investment, total employment, total demand, total supply, general
price level. We study how these aggregates and averages of economy as a whole are
determined and what causes fluctuations in them. The aim of the study is to understand the
reason for the fluctuations and to ensure the maximum level of employment and income in a
country.In other words: Microeconomics is the study of individual trees, whereas macro
economics is the study of forest as a whole.Macro economics is also known as the theory of
income and employment, since the subject matter of macro economics revolves around
determination of the level of employment and income.At the time of the Great Depression,
government participation through monetary and fiscal measures in the economy increased
considerably. Since the study of millions of individual economic units is almost impossible,
macro economics provided tools for the assessment of economic policy. Macro policies make
it possible to control inflation and deflation, and moderate violent booms and recessions.The
main functions of macro economics are the collection, organising, and analysis of data;
determining national income; and formulating appropriate economic policies to maintain
economic growth and full employment in a developing country.
The scope of macro economics include the following theories:

« National income

e Money

« Economic growth

« Employment

e Price levels
The studies of problem of balance of payment, unemployment, general price level are the
parts of macro economics, as these relate to the economy as a whole.
The Importance of Macro economics
1. Functioning of an Economy:

Macroeconomic analysis is of paramount importance in getting us an idea of the functioning
of an economic system.It is very essential for a proper and accurate knowledge of the
behaviour pattern of the aggregative variables as the description of a large and complex
economic system is impossible in terms of numerous individual items.
2. Formulation of Economic Policies:
Macro economics is of great help in the formulation of economic policies. The days of
‘laissez faire’ are over and government intervention in economic matters is an accomplished
fact. Governments deal not with individuals but with groups and masses of individuals,

thereby establishing the importance of macroeconomic studies. For example, during
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depression, when the machines lie idle and men roam from pillar to post in search of
employment, macro economics helps us to analyze the cause leading to depression and
unemployment and to the adoption of suitable policies to cope with such a situation.

3. Understanding Macro economics:

The study of macro economics is essential for the proper understanding of microeconomics.
No Microeconomic law could be framed without a prior study of the aggregates; for example,
the theory of individual firm could not have been formulated with reference to the behaviour
pattern of one single firm, howsoever representative it might have been; the theory was
possible only after the behaviour pattern of several firms had been examined and analyzed,
for example, the forest, though an aggregation of trees, does not exhibit the behaviour and
characteristics of individual trees. Microeconomics has been, and to some extent, remains a
jungle of special assumptions, special cases, unsatisfactory measurements and abstract
theorising.

4. Understanding and Controlling Economic Fluctuations:

Economic fluctuations are a characteristic feature of the capitalist form of society. The theory
of economic fluctuations can be understood and built up only with the help of macro
economics, for here we have to take into consideration aggregate consumption, aggregate
saving and investment in the economy. Thus, we are led to analyse the causes of fluctuations
in income, output and employment, and make attempts to control them or at least to reduce
their severity.

5. Inflation and Deflation:

Macroeconomic approach is of utmost importance to analyse and understand the effects of
inflation and deflation. Different sections of society are affected differently as a result of
changes in the value of money. Macroeconomic analysis enables us to take certain steps to
counteract the adverse influences of inflation and deflation.

6. Study of National Income:

It is the study of macro economics which has brought forward the immense importance of the
study of national income and social accounts. In micro-economy such a study was relegated
to the background. It is the study of national income which enables us to know that three-
fourth of the world is living in abject poverty. Without a study of national income, as a result
of the development in macro economics, it was not possible to formulate correct economic

policies.



7. Study of Economic Development:
As a result of advanced study in macro economics, it has become possible to give more
attention to the problem of development of underdeveloped countries. Study of macro
economics has revealed not only the glaring inequalities of wealth within an economy but has
also shown the vast differences in the standards of living of the people in various countries
necessitating the adoption of important steps to promote their economic welfare.
8. Performance of an Economy:
Macro economics helps us to understand and analyse the performance of an economy. It
implies the result-oriented study of an economy—in terms of actual and factual
achievements. Gross National Product (GNP) or National Income (NI) estimates are used to
measure the performance of an economy over time by comparing the production of goods and
services in one period with that of the other periods the composition of GNP gives
information about the quantum of contribution of each sector of the economy to GNP.
LIMITATIONS AND DEMERITS OF MACRO ECONOMICS
1. No importance to Individual Units
Under macro economics, in comparison to individual units, a group of units is given more
importance. But it is not necessary that what is right for individual person, would also right
for a group. For example, an individual can withdraw the amount saved in a bank at a time
but if all individuals do the same, the banks will have to close down.
2. Difficulty in Measuring Aggregates
Under macro economics, measurement of aggregates becomes very difficult. The reason is
that there are numerous items in a group, which are sometimes not possible to measure
separately.
3. Danger in Ignorance of Individual Units
When we study a group under macro economics, there is always a danger that we may
ignore the numerous individual units which form the group.
MACRO ECONOMICS VS MICROECONOMICS
e Microeconomics deals with individuals whereas macro economics deals with the
economy as a whole entity consisting of collective individual units.
e Macro economics uses aggregate demand and aggregate supply to explain it’s
concepts whereas microeconomics employs demand and supply.
e Macro economics focuses on the determination of income and employment in the
economy, on the other hand, microeconomics aims at the determination of the price of a

good or service and factors of production.
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e In macro economics, the degree of aggregation is highest because while dealing with the
general aspects of the economy, factors have to be aggregated completely. On the other
side, the degree of aggregation in microeconomics is limited.

e Macro economics is known as income theory. Microeconomics is also termed as price
theory.

It can be easily observed that micro and macro economics differ on the application of economic
theory to two different scales. Despite all these differences, both of these are not mutually
exclusive of each other. Macro economics is the aggregation of economic behaviour by
individual units. Microeconomic aspects can change with changes in macroeconomic aspects
and vice versa.

The Need of Macro economics

It was earlier considered that concepts of microeconomics are sufficient enough to explain
economic behaviours. But then it was observed that economic aspects differed when applied to
two different scales. The concepts of microeconomics were not able to explain various
phenomenon taking place at the highest level of aggregation. In addition to this, there emerged
various paradoxes that microeconomics wasn’t able to explain.

For example, microeconomics explains that to earn maximum profit producers should decrease
supply when prices are low and increase supply when prices are high, but if all individual
suppliers decrease the supply of a commodity, then collectively the overall supply would
change, and this will have effects on income, expenditure, taxation policies etc. Thus to
overcome the shortcomings of microeconomic theory, the macroeconomic theory came into
existence which focuses on aggregates and discusses the welfare of the economy as a whole.
THE CIRCULAR FLOW OF INCOME:

1. Meaning:

The circular flow of income and expenditure refers to the process whereby the national
income and expenditure of an economy flow in a circular manner continuously through time.
Circular Flow in a Two Sector Economy:

We begin with a simple hypothetical economy where there are only two sectors, the
household and business. The household sector owns all the factors of production, that is, land,
labour and capital. This sector receives income by selling the services of these factors to the
business sector.The business sector consists of producers who produce products and sell them
to the household sector or consumers. Thus the household sector buys the output of products

of the business sector. The circular flow of income and expenditure in such an economy is



shown in Figure 1 where the product market is shown in the upper portion and the factor

market in the lower portion.
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Fig. 1.

In the product market, the household sector purchases goods and services from the business
sector while in the factor market the household sector receives income from the former for
providing services. Thus the household sector purchases all goods and services provided by
the business sector and makes payments to the latter in lieu of these.

The business sector, in turn, makes payments to the households for the services rendered by
the latter to the business-wage payments for labour services, profit for capital supplied, etc.
Thus payments go around in a circular manner from the business sector to the household
sector and from the household sector to the business sector, as shown by arrows in the output
portion of the figure.

There are also flows of goods and services in the opposite direction to the money payments
flows. Goods flow from the business sector to the household sector in the product market,
and services flow from the household sector to the business sector in the factor market, as
shown in the inner portion of the figure. These two flows give GNP=GNI.

Circular Flow with Saving and Investment Added:

The actual economy is not as explained above. In an economy, “inflows” and “leakages”
occur in the expenditure and income flows. Such leakages are saving, and inflows or
injections are investment which equals each other.

Figure 2 shows how the circular flow of income and expenditure is altered by the inclusion of
saving and investment.

Expenditure has now two alternative paths from household and product markets:

(i) Directly via consumption expenditure, and

(i) indirectly via investment expenditure.

In Figure 2 there is a capital or credit market in between saving and investment flows from

households to business firms. The capital market refers to a number of financial institutions
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such as commercial banks, savings banks, loan institutions, the stock and bond markets, etc.
The capital market coordinates the saving and investment activities of the households and the
business firms. The households supply saving to the capital market and the firms, in turn,
obtain investment funds from the capital market.

3. Circular Flow in a Three- Sector Closed Economy:

So far we have been working on the circular flow of a two-sector model of an economy. To
this we add the government sector so as to make it a three-sector closed model of circular
flow of income and expenditure. For this, we add taxation and government purchases (or
expenditure) in our presentation. Taxation is a leakage from the circular flow and government

purchases are injections into the circular flow.

[Investmentle—[Capital Markethe—{ Savin
R

Consumption Expenditure

A=> Product Market -—-—2»

Business
Sector

b ‘“¢--—-- Factor Market <-—--Y
> Income Pavments —>——

Fig. 2.

First, take the circular flow between the household sector and the government sector. Taxes
in the form of personal income tax and commodity taxes paid by the household sector are
outflows or leakages from the circular flow.But the government purchases the services of the
households, makes transfer payments in the form of old age pensions, unemployment relief,
sickness benefit, etc., and also spends on them to provide certain social services like
education, health, housing, water, parks and other facilities. All such expenditures by the
government are injections into the circular flow.Next take the circular flow between the
business sector and the government sector. All types of taxes paid by the business sector to
the government are leakages from the circular flow. On the other hand, the government
purchases all its requirements of goods of all types from the business sector, gives subsidies
and makes transfer payments to firms in order to encourage their production. These
government expenditures are injections into the circular flow.

Now we take the household, business and government sectors together to show their inflows
and outflows in the circular flow. As already noted, taxation is a leakage from the circular
flow. It tends to reduce consumption and saving of the household sector. Reduced
consumption, in turn, reduces the sales and incomes of the firms. On the other hand, taxes on

business firms tend to reduce their investment and production.
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The government offsets these leakages by making purchases from the business sector and
buying services of the household sector equal to the amount of taxes. Thus total sales again
equal production of firms. In this way, the circular flows of income and expenditure remain
in equilibrium.

Figure 3 shows that taxes flow out of the household and business sectors and go to the
government. Now the government makes investment and for this purchases goods from firms
and also factors of production from households. Thus government purchases of goods and
services are an injection in the circular flow of income and taxes are leakages.

If government purchases exceed net taxes then the government will incur a deficit equal to
the difference between the two, i.e., government expenditure and taxes. The government
finances its deficit by borrowing from the capital market which receives funds from
households in the form of saving.

On the other hand, if net taxes exceed government purchases the government will have a
budget surplus. In this case, the government reduces the public debt and supplies funds to the

capital market which are received by firms.
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Adding Foreign Sector: Circular Flow in a Four-sector Open Economy:

So far the circular flow of income and expenditure has been shown in the case of a closed
economy. But the actual economy is an open one where foreign trade plays an important role.
Exports are an injection or inflows into the economy.

They create incomes for the domestic firms. When foreigners buy goods and services
produced by domestic firms, they are exports in the circular flow of income. On the other
hand, imports are leakages from the circular flow. They are expenditures incurred by the
household sector to purchase goods from foreign countries. These exports and imports in the
circular flow are shown in Figure 4.Take the inflows and outflows of the household, business
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and government sectors in relation to the foreign sector. The household sector buys goods
imported from abroad and makes payment for them which is a leakage from the circular flow.
The households may receive transfer payments from the foreign sector for the services

rendered by them in foreign countries.
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On the other hand, the business sector exports goods to foreign countries and its receipts are
an injection in the circular flow. Similarly, there are many services rendered by business
firms to foreign countries such as shipping, insurance, banking, etc. for which they receive
payments from abroad.

They also receive royalties, interests, dividends, profits, etc. for investments made in foreign
countries. On the other hand, the business sector makes payments to the foreign sector for
imports of capital goods, machinery, raw materials, consumer goods, and services from
abroad. These are the leakages from the circular flow.Like the business sector, modern
governments also export and import goods and services, and lend to and borrow from foreign
countries. For all exports of goods, the government receives payments from abroad.
Similarly, the government receives payments from foreigners when they visit the country as
tourists and for receiving education, etc. and also when the government provides shipping,

insurance and banking services to foreigners through the state-owned agencies.
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It also receives royalties, interest, dividends etc. for investments made abroad. These are
injections into the circular flow. On other hand, the leakages are payments made for the
purchase of goods and services to foreigners.

Figure 4 shows the circular flow of the four-sector open economy with saving, taxes and
imports shown as leakages from the circular flow on the right hand side of the figure, and
investment, government purchases and exports as injections into the circular flow on the left
side of the figure.

Further, imports, exports and transfer payments have been shown to arise from the three
domestic sectors—the household, the business and the government. These outflows and
inflows pass through the foreign sector which is also called the “Balance of Payments
Sector.”

If exports exceed imports, the economy has a surplus in the balance of payments. And if
imports exceed exports, it has a deficit in the balance of payments. But in the long run,
exports of an economy must balance its imports. This is achieved by the foreign trade policies
adopted by the economy.

The whole analysis can be shown in simple equations:

Y=C++G ... (1)

Where Y represents the production of goods and services, C for consumption expenditure, |
investment level in the economy and G for government expenditure respectively.

Now we introduce taxation in the model to equate the government expenditure.

Therefore, Y=C+S+T ... (2)

Where S is saving T is taxation.

By equating (1) and (2), we get

C+I+G=C+S+T

|+G=S+T

With the introduction of the foreign sector, we divide investment into domestic investment
(Id) and foreign investment (I) and get ls + Ir+ G=S+ T .Butlf=X-M

Where X is exports and M is imports

g+ (X-M)+G=S+T

lig+ (X-=M)=S+(T-G)

The equation shows the equilibrium condition in the circular flow of income and expenditure.
Importance of the Circular Flow:

The concept of the circular flow gives a clear-cut picture of the economy. We can know

whether the economy is working efficiently or whether there is any disturbance in its smooth

12



functioning. As such, the circular flow is of immense significance for studying the
functioning of the economy and for helping the government in formulating policy measures.
1. Study of Problems of Disequilibrium:

It is with the help of circular flow that the problems of disequilibrium and the restoration of
equilibrium can be studied.

2. Effects of Leakages and Inflows:

The role of leakages enables us to study their effects on the national economy. For example,
imports are a leakage out of the circular flow of income because they are payments made to a
foreign country. To stop this leakage, government should adopt appropriate measures so as to
increase exports and decrease imports.

3. Link between Producers and Consumers:

The circular flow establishes a link between producers and consumers. It is through income
that producers buy the services of the factors of production with which the latter, in turn,
purchase goods from the producers.

4. Creates a Network of Markets:

As a corollary to the above point, the linking of producers and consumers through the circular
flow of income and expenditure has created a network of markets for different goods and
services where problems relating to their sale and purchase are automatically solved.

5. Inflationary and Deflationary Tendencies:

Leakages or injections in the circular flow disturb the smooth functioning of the economy.
For example, saving is a leakage out of the expenditure stream. If saving increases, this
depresses the circular flow of income. This tends to reduce employment, income and prices,
thereby leading to a deflationary process in the economy. On the other hand, consumption
tends to increase employment, income, output and prices that lead to inflationary tendencies.
6. Basis of the Multiplier:

Again, if leakages exceed injections in the circular flow, the total income becomes less than
the total output. This leads to a cumulative decline in employment, income, output, and prices
over time. On the other hand, if injections into the circular flow exceed leakages, the income
is increased in the economy. This leads to a cumulative rise in employment, income, output,
and prices over a period of time. In fact, the basis of the Keynesian multiplier is the

cumulative movements in the circular flow of income.
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7. Importance of Monetary Policy:

The study of circular flow also highlights the importance of monetary policy to bring about
the equality of saving and investment in the economy. Figure 2 shows that the equality
between saving and investment comes about through the credit or capital market.

The credit market itself is controlled by the government through monetary policy. When
saving exceeds investment or investment exceeds saving, money and credit policies help to
stimulate or retard investment spending. This is how a fall or rise in prices is also controlled.
8. Importance of Fiscal Policy:

The circular flow of income and expenditure points toward the importance of fiscal policy.
For national income to be in equilibrium desired saving plus taxes (S+T) must equal desired
investment plus government spending (I + G). S+ T represents leakages from the spending
stream which must be offset by injections of | + G into the income stream. If S + T exceed | +
G, government should adopt such fiscal measures as reduction in taxes and spending more
itself. On the contrary.

If 1 + G exceed S+T, the government should adjust its revenue and expenditure by
encouraging saving and tax revenue. Thus the circular flow of income and expenditure tells
us about the importance of compensatory fiscal policy.

NATIONAL INCOME

DEFINITIONS OF NATIONAL INCOME

The definitions of National income can be grouped into two classes as the traditional
definition advanced by Marshall, Pigou and Fisher and the modern definitions.

Marshallion Definition:- According to Marshall, the labour and capital of a country acting on
its natural resources produce annually a certain net aggregate of commodities, material and
immaterial, including services of all kinds. This is the true net annual income or revenue of
the country or national dividend. Pigovian Definition:- According to Pigou "National income
is that part of objective income of the community, including of course income derived from
abroad which can be measured in money” Fisher's Definition:- Fisher adopted consumption
as the criterion of national certain whereas Marshall and Pigou regarded it to be production.
According to Fisher ‘The national income consists solely of services as received by ultimate
consumers whether from their material or from their human environment'. From the modern
point of view national income is defined as the net output of commodities and services

flowing during the year from country's productive system in the hands of ultimate consumer.

14



CONCEPTS OF NATIONAL INCOME

There are various concepts of national income

GDP (GROSS DOMESTIC PRODUCT)
Here the catch word is ‘Domestic’ which refers to ‘Geographical Area’
The total value of all final goods and services produced within the boundary of the country
during a given period of time (generally one year) is called as GDP.
In this case, the final produce of resident citizens as well as foreign nationals who reside
within that geographical boundary is considered.

GROSS NATIONAL PRODUCT (GNP)
Here the catch word is ‘National’ which refers to all the citizens of a country.
GNP is the total value of the total production or final goods and services produced by the
nationals of a country during a given period of time (generally one year).
In this case, the income of all the resident and non-resident citizens (who resides in abroad)
of a country in included whereas, the income of foreigners who reside within India is
excluded.The GNP contains the income earned by Indian Nationals (both in Indian Territory
and Abroad) only.

GNP = GDP+ NET FACTOR INCOME FROM ABROAD

Net National Product (NNP): NNP = GNP - Depreciation
It is calculated by subtracting Depreciation from Gross National Product.
Depreciation Wear and Tear of goods produced.
This deduction is done because a part of current produce goes to replace the depreciated parts
of the products already produced. This part does not add value to current year’s total produce.
It is used to keep the products already produced intact and hence it is deducted.

National Income at Factor Cost (NIFC):
It is the sum of all factors of income earned by the residents of a country (Indian) both from
within the country as well as abroad.
National Income at Factor Cost = NNP at Market Price — Indirect Taxes + Subsidies In
India, and many developing countries across the world, National Income is measured at
factor cost instead of market prices. Some of the reasons for the same are lack of uniformity
in taxes, goods not being printed with their prices, etc.

Personal Income
It refers to all of the income collectively received by all of the individuals or households in a
country.lt includes compensation from a number of sources including salaries, wages and

bonuses received from employment or self-employment; dividends and distributions received
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from investments; rental receipt from real estate investments and profit sharing from
businesses.In National Income Accounting, some income is attributed to individuals, which
they do not actually receive. For Example: Undistributed Profits, Employees’ contribution for
social security, corporate income taxes etc. which needs to be deducted from National
Income to estimate the Personal Income.
Pl = NI + Transfer Payments — Corporate Retained Earnings, Income Taxes, Social
Security Taxes.

Disposable Personal Income
It is the amount left with the individuals after paying Personal Taxes such as Income Tax,
Property Tax, and Professional Tax etc. to spend as they like.
DPI = Pl — Taxes (Income Tax Ie. Personal Taxes)
DPI results into Savings and Expenditure i.e. (Spend and Save). This concept is very useful
for studying and understanding the consumption and saving behaviour of the individuals.
METHODS OF MEASUREMENT OF NATIONAL INCOME

There are three methods to calculate the national income of a country. They are:

1. Product or inventory method

Under this method national income is computed by adding the net value of all commodities
and services produced during a given period. Thus national income is equal to the total of
final products. We first estimate the gross value of domestic output in the various sectors of
production (Agriculture, manufacturing industry, and services including government). The
value of gross output is obtained by multiplying the output of each sector by their respective
market prices and adding them together. Then we deduct value of depreciation from gross
value of domestic output. The figure so obtained has to be adjusted with net income from
abroad. This is the national income at factor cost. This method is also known as output
method or value added method. This method is very complicated because of non-availability
of adequate and requisite data. It is also difficult to calculate depreciation.

2. Income Method

Under this method the national income of a country is obtained by adding the incomes
accrue to factors of production within the national territory. Basic factors of production used
producing the national products are land, labour, capital and organisation. The national
income is equal to total rent plus total wages and salaries of all employees including income
of self-employed persons plus total interest on capital including dividends of the shareholders
plus total profit of all firms including undistributed corporate profits and earnings of public

enterprises. In short, the national income represents the total of rent, wages, interest and
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profit. It is difficult to make distinction between the earnings from ordinary labour and
organizational efforts. It is also difficult to make distinction between earnings from land and
capital. Therefore factors of production are grouped as labour and capital for purposes of
estimating national income. Under this method, the income earned by all individuals of the
country during a year is taken. Individuals earn income in the form of Rent, profit, wages,
and salaries and interest. This method is called income method.

3. Expenditure method

This method is based on the assumption that income is equal to expenditure plus savings.
Under this method the personal consumption expenditure, government purchase of goods and
services, gross private domestic investment and net foreign investment are added together to
get the national income of a country. This method is also known as consumption- saving
method. The expenditure method is not generally used because the necessary data regarding
consumption expenditure are not easily available. This method includes the total expenditure
of a country during a given year. The income is spent on consumer goods or on producer
goods. The consumption expenditure and investment expenditure of all the individuals in a
government during a year is added. Thus National Income = Consumption Expenditure +
Investment Expenditure + government expenditure + exports - imports. Y =C + 1 + G + X-M
Difficulties in Measuring National Income

There are many difficulties in measuring national income of a country accurately. The
difficulties involved in national income accounting are both conceptual and statical in nature.
Some of these difficulties involved in the measurement of national income are discussed
below.

1. Types of Goods and Services:

The kinds of goods and services which should be included in national income pose a
problem.

Goods and services having money value are included in the national income but there are
goods and services which may have no corresponding flow of money payments.The difficulty
is whether these services should be included in national income and how to measure their
money value.

2. Problems of Double Counting:

Another difficulty is of double counting usually associated with the inventory method.
Double counting implies the possibility of a commodity like raw material or labour being
included in national income more than once, e.g., a farmer sells maize worth rupees two

hundred to a mill-owner, the mill owner further sells the maize flour to a wholesale dealer,
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who further sells it to consumer; if we calculate it at every stage, its money value will
increase to eight hundred rupees but actually the increase in national income has been to the
extent of two hundred rupees only.

The best way to avoid this difficulty is to calculate only the value of all goods and services
that enter into final consumption. The problem of differentiating intermediate and final
products is very complex and acute in the computation of national income.

(3) Transfer Payments:

Transfer payments are associated with the income method of national income calculation. A
person receives income of say Rs. 1,000 per year; part of it may have been received as
interest payments on government loans. This part is in the nature of transfer payments and
may be taken either as the income of the individual or of the government. If it figures under
both the categories, aggregate national income will be unduly inflated.

(4) Hlegal Activities:

All unlawful and illegal activities, whether economic or not, are omitted from national
income accounting. Income earned through illegal activities like smuggling, black-
marketing, gambling, betting, adulteration, bribery etc. are excluded on the ground that these
activities are illegal and, therefore, cannot be included in the national income accounts.
However, it is very difficult to estimate such activities because their definitions or notions
may change from generation to generation or from society to society. In a free market
economy—who is going to say or decide— what is a socially desirable or lawful activity?
Thus, it is the larger issue of what constitute a lawful or socially desirable activity that
demands closer examination.

(5) Second-hand Sales:

The most obvious item for exclusion from the national income and product accounts is
second-hand sales. In such sales the individual or the economic units merely exchange
ownership of an already existing good, when no income is created in the process from current
production. Even if a profit is made, there is no income generated in the accounting sense, for
the gain is offset by the recording of the good at the transaction price by the buyer.

(6) Lack of Adequate Data:

The lack of adequate statistical data makes the task of estimation of national income more

acute and difficult.
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Questions for practice

Part A

Define macroeconomics

Difference between macro and micro economics
State meaning of circular flow income

Write any four difficulties in calculating national income

o r W N E

What is mean by national income
Part B
1. Elaborate the importance of macro economics
2. Discuss about concept of national income
3. Summarize the three sector circular flow in closed economy
4. Outline the four sector circular flow income in closed economy
5. Analyze about methods of calculating national income
References
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Classical Theory of Income- Output and Employment- Say’s Law of Market- Wage Price
Flexibility- Critical Evaluation - Keynesian Theory of Income- Output and Employment-
Effective Demand and Supply- Consumption Function- Average and Marginal Propensity to
Consume- Factors Affecting Consumption Function- Investment Function — Marginal
Efficiency of Capital- Multiplex Accelerator- Comparison Between Classical and Keynesian
Theories.

Classical Theory of Income, Output and Employment Determination
The Classical economists disagreed with the Mercantilist view who emphasized State
interference and money factors, for the determination of real variables like output and
employment.
According to Adam Smith, “it is the real factor which is more important.” Money was used
only as a medium of exchange.
Assumptions:
1. Short-Run
2. Full Employment
3. No State Interference
4. Price Mechanism
5. State of Technology and Population is constant
The Classical model of employment consists of 2 components:
I. Aggregate Production Function:
Production function shows the relationship between input and output. Assume there are two
inputs—Labour and capital. Due to the assumption of short-run, output will be a function of
Labour (N) with capital constant (K), that is, output can be increased only by increasing the
variable factor (N) with fixed factor (K) constant.
Y =F(XK,N)...(2.1)
Where K — Constant capital stock
N — Quantity of homogeneous Labour Input
Y — Real Output.

I1. Labour supply and demand function:
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With the help of these two functions output and employment is determined. As capital is
constant in the short-run, output will change only with change in the labour input.As
MPy represents addition to output when the Labour input is increased, MPn curve represents
the slope of production function.MPn = AY/AN .The slope of the production function (MPn)
is positive but decreases as we move along the curve.
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FIG. 2.1(A): PRODUCTION FUNCTION AND (B) MP OF LABOUR CURVE

Characteristics of Production Function:

In short run, production function shows technological relationship between the output level
(Y) and the level of employment (N).

1. At low level of Labour input before Ny

The Production function is a straight line which exhibits constant returns to scale.

Therefore, MPn curve is flat which represents constant MP\.

It shows at very low level of output as we employ more labour to the given capital,
productivity of the last worker added does not fall.

Therefore, MPn does not fall.

2. After N, till N2 As we add more labour, output increases but at a decreasing rate (i.e.,
increment to the output decreases) MPn decreases but is positive.

3. Beyond N2 The additional Labour employed will not lead to additional production/ output
i.e, MPn = 0. Therefore, MPy curve touches X-axis at Na.

(a2) Demand for Labour:
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Demand for labour is negatively related to the real wages (W/P). This is because real wages
are the cost of production for the firms. Therefore, an increase in real wages due to increase
in wages will lead to an increase in the cost of production. This in turn will decrease the
profits of the firm because profit is equal to Revenue minus cost (Profit = Revenue — Cost).
Due to decrease in the profit level, firm will demand less labour.

(b) Supply of Labour:

Supply of labour is positively related to the real wages (W/P). This is because wages are the
income of the labourer. Increase in wages implies increase in income, therefore, a labourer is
willing to work more at higher wages. Thus, the supply curve of labour is positively sloped.
Types of unemployment

1) Frictional unemployment: Frictional unemployment is a kind of unemployment that
occurs when people are “between jobs” or are looking for their first jobs. It is a kind of
unemployment that occurs when the economy is trying to match people and jobs correctly.
So, if you get fired for poor work, if you quit because you dislike your job, or if you are just
looking for your first job, you are frictionally unemployed.

2) Seasonal unemployment: Seasonal unemployment occurs when people are not working
because their jobs only exist at some times of the year. Agricultural and construction workers
are examples of this type of unemployment.

3) Structural unemployment Structural unemployment occurs when a given set of skills is no
longer needed in a given economy. For example, E.g. closure of mines, left many miners
struggling to find suitable work. For example, there may be jobs available in the service
sector, but unemployed miners don’t have the relevant skills to be able to take the jobs

4) Cyclical unemployment: Cyclical unemployment, which economists say is the worst kind.
In this kind of unemployment, people are out of work because the economy has slowed and
there is no demand for whatever the workers make. This sort of unemployment occurs during
recessions.

5) Voluntary unemployment: is a situation when a person is unemployed because of not
being able to find employment of his/her own choice. It is a situation when a person is
unemployed. Sometimes people reject employment opportunities if they do not receive
desired wages or if they are not offered the kind of work they wish to do.

6) Disguised Unemployment: Disguised unemployment is the most widespread type of
unemployment in under-developed countries. In under-developed countries, the stock of
capital does not grow fast. The capital stock has not been growing at a rate fast enough to

keep pace with the growth of population, the country’s capacity to offer productive
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employment to the new entrants to the labour market has been severely limited. This
manifests itself generally in two ways: (i) the prevalence of large-scale unemployment in the
urban areas; and (ii) in the form of growing numbers engaged in agriculture, resulting in

‘disguised unemployment’

Say’s Law of Market

Introduction:

An important element of classical economics is Say’s Law of Markets, after J.B. Say, a
French economist who first stated the law in a systematic form.Briefly stated, this law means
that ‘supply always creates its own demand.” In other words, according to J.B. Say, there
cannot be general overproduction or general unemployment on account of the excess of
supply over demand because whatever is supplied or produced is automatically exchanged for
money.In an exchange economy whatever is produced represents the demand for another
product because whatever is produced is easily sold. Whenever additional production takes
place in the economy, necessary purchasing power is also generated at the same time to
absorb the additional supply; hence, there is no scope of supply exceeding demand and
causing unemployment. This law was the basis of their assumption of full employment in the
economy which rested on the plea that income is spent automatically at a rate which will
always keep the resources fully employed. Savings, according to classical are just another
form of spending; all income, they believed, is partly spent on consumption and partly on
investment. There is no ground to fear a break in the flow of income stream in the economy.
Hence there cannot be any general over-production or unemployment.

Propositions and Implications of the Law:

Say’s propositions and its implications present the true picture of the market law.

These are given below:

1. Full Employment in the Economy:

The law is based on the proposition that there is full employment in the economy. Increase in
production means more employment to the factors of production. Production continues to
increase until the level of full employment is reached. Under such a situation, the level of
production will be maximum.

2. Proper Utilization of Resources:

If there is full employment in the economy, idle resources will be properly utilized which will
further help to produce more and also generate more income.

3. Perfect Competition:

24



Say’s law of market is based on the proposition of perfect competition in labour and product
markets.

Other conditions of perfect competition are given below:

(a) Size of the Market:

According to Say’s law, the size of the market is large enough to create demand for goods.
Moreover, the size of the market is also influenced by the forces of demand and supply of
various inputs.

(b) Automatic Adjustment Mechanism:

The law is based on this proposition that there is automatic and self-adjusting mechanism in
different markets. Disequilibrium in any market is a temporary situation. For example, in
capital market, the equality between saving and investment is maintained by the rate of
interest while in the labour market the adjustment between demand and supply of labour is
maintained by the wage rate.

(c) Role of Money as Neutral:

The law is based on the proposition of a barter system where goods are exchanged for goods.
But it is also assumed that the role of money is neutral. Money does not affect the production
process.

4. Laissez-faire Policy:

The law assumes a closed capitalist economy which follows the policy of laissez-faire. The
policy of laissez-faire is essential for an automatic and self-adjusting process of full
employment equilibrium.

5. Saving as a Social Virtue:

All factor income is spent in buying goods which they help to produce. Whatever is saved is
automatically invested for further production. In other words, saving is a social virtue.
Criticisms of Say’s Law:

J.M. Keynes in his General Theory made a frontal attack on the classical postulates and Say’s
law of markets.He criticised Say’s law of markets on the following grounds:

1. Supply does not create its Demand:

Say’s law assumes that production creates market (demand) for goods. Therefore, supply
creates its own demand. But this proposition is not applicable to modern economies where
demand does not increase as much as production increases. It is also not possible to consume
only those goods which are produced within the economy.

2. Self-adjustment not Possible:
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According to Say’s law, full-employment is maintained by an automatic and self-adjustment
mechanism in the long run. But Keynes had no patience to wait for the long period for he
believed that “In the long-run we are all dead.” It is not the automatic adjustment process
which removes unemployment. But unemployment can be removed by increase in the rate of
investment.

3. Money is not Neutral:

Say’s law of markets is based on a barter system and ignores the role of money in the system.
Say believes that money does not affect the economic activities of the markets. On the other
hand, Keynes has given due importance to money. He regards money as a medium of
exchange. Money is held for income and business motives. Individuals hold money for
unforeseen contingencies while businessmen keep cash in reserve for future activities.

4. Over Production is Possible:

Say’s law is based on the proposition that supply creates its own demand and there cannot be
general over-production. But Keynes does not agree with this proposition. According to him,
all income accruing to factors of production is not spent but some fraction out of it is saved
which is not automatically invested. Therefore, saving and investment are always not equal
and it becomes the problem of overproduction and unemployment.

5. Underemployment Situation:

Keynes regards full employment as a special case because there is underemployment in
capitalist economies. This is because the capitalist economies do not function according to
Say’s law and supply always exceeds its demand. For example, millions of workers are
prepared to work at the current wage rate, and even below it, but they do not find work.

6. State Intervention:

Say’s law is based on the existence of laissez-faire policy. But Keynes has highlighted the
need for state intervention in the case of general overproduction and mass unemployment.
Laissez-faire, in-fact, led to the Great Depression.

Had the capitalist system been automatic and self-adjusting. This would not have occurred.
Keynes, therefore, advocated state intervention for adjusting supply and demand within the
economy through fiscal and monetary measures.

7. Equality through Income:

Keynes does not agree with the classical view that the equality between saving and
investment is brought about through the mechanism of interest rate. But in reality, it is
changes in income rather than the rate of interest which bring the two to equality.

8. Wage-cut no Solution:
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Pigou favoured the policy of wage-cut to solve the problem of unemployment. But Keynes
opposed such a policy both from the theoretical and practical points of view. Theoretically, a
wage-cut policy increases unemployment instead of removing it. Practically, workers are not
prepared to accept a cut in money wage. Keynes, therefore, favoured a flexible monetary
policy to a flexible wage policy to raise the level of employment in the economy.

9. Demand creates its own supply:

Say’s law of market is based on the proposition that “supply creates its own demand”.
Therefore, there cannot be general overproduction and mass unemployment. Keynes has
criticized this proposition and propounded the opposite view that demand creates its own
supply. Unemployment results from the deficiency of effective demand because people do
not spend the whole of their income on consumption.

Wage Flexibility:

The importance of wage flexibility arises from the fact that, in most macroeconomic models,
we find an inverse relationship between wages and employment. Unemployment is thus asso-
ciated with wages in excess of full-employment level and the persistence of unemployment
then depends on how quickly wages adjust in the face of unemployment.

It is often argued that if wages were very (if not completely) flexible, unemployment would
be eliminated quickly and automatically by wage cuts, and that, consequently, any
persistence of unemployment must be attributable to wage rigidity.

Although the classical economists admitted that hoarding could cause spending to decline,
they did not believe that it would lead to unemployment. Full employment would be
maintained because wage and price adjustments would compensate for any deficiency in total
spending.The existence of flexible wages and prices implies an AS curve that is vertical, not
upward-sloping as in the initial section of this chapter.

Recall that the upward slope of the earlier AS curve resulted from the assumption that wage
rates and some other input prices remain fixed in the short run. Given these rigidities, an
increase in the price level would allow businesses to profit by expanding output, thus
producing the upward-sloping AS curve.

But the classical economists believed that all prices—including wage rates (the price of
labor) and other input prices—were highly flexible. An increase in product prices would
therefore be quickly matched by higher costs, which would eliminate any incentive to expand
output.

Thus, the existence of highly flexible wages and prices implies an AS curve that is vertical at

the full-employment level of output (potential GDP), as represented in Exh. 2.To illustrate
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how flexible wages and prices guarantee full employment, let us assume that the economy is
operating at a price level of 100 and a real GDP of $1,000 billion, the intersection of AS and
ADL1. Now, suppose that consumers become pessimistic about the future and hide some of
their income in cookie jars rather than spend it. What will happen? Aggregate demand will
fall—the AD curve will shift from AD1 to AD2—because households are spending less and
thus demanding less real output at any given price level.

Reasoning from the assumptions of the classical economists, a reduction in aggregate
demand leads quickly to falling prices. In our example the price level will not be maintained
at 100; it will fall to 80. If that occurs, businesses will be able to sell the same amount of real
output as before but at lower prices.

Wages will also decline because reductions in the demand for goods and services will be
accompanied by falling demand for labor, which will lead to labor surpluses and wage
reductions. Thus, employers will still be able to make a profit at the lower price level.lf AD
were to increase (due to dishoarding—spending the money that had been hoarded—for
example), this entire process would work in reverse.

An increase in aggregate demand from AD1 to AD3 would quickly push up product prices.
On the surface this would seem to make it attractive for businesses to increase output; if
product prices rise while input prices remain stable, producers can make a profit by
expanding output to satisfy the higher level of demand.

But in the classical model, wage rates and other input prices are also highly flexible, and
they would tend to rise because increases in the demand for goods and services would be
accompanied by rising demand for labor and other inputs.

Thus, businesses would have no incentive to expand output. The higher level of aggregate
demand would lead to inflation, leaving output and employment unchanged.In summary, the
classical economists did not believe that changes in aggregate demand would have any
impact on real GDP or employment; they maintained that only the price level would be
affected.
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The Keynesian Theory of Income, Output and Employment

In the Keynesian theory, employment depends upon effective demand. Effective demand
results in output. Output creates income. Income provides employment. Since Keynes
ssumes all these four quantities, viz., effective demand (ED), output (Q), income (Y) and
employment (N) equal to each other, he regards employment as a function of income.
Effective demand is determined by two factors, the aggregate supply function and the
aggregate demand function. The aggregate supply function depends on physical or technical
conditions of production which do not change in the short-run.As per Keynes theory of
employment, effective demand signifies the money spent on the consumption of goods and
services and on investment. The total expenditure is equal to the national income, which is
equivalent to the national output. Therefore, effective demand is equal to total expenditure as
well as national income and national output.

The theory of Keynes was against the belief of classical economists that the market forces in
capitalist economy adjust themselves to attain equilibrium. He has criticized classical theory
of employment in his book. Vie General Theory of Employment, Interest and Money. Keynes
not only criticized classical economists, but also advocated his own theory of employment.
His theory was followed by several modern economists.

Keynes book was published post-Great Depression period. The Great Depression had proved
that market forces cannot attain equilibrium themselves; they need an external support for
achieving it. This became a major reason for accepting the Keynes view of employment.The
Keynes theory of employment was based on the view of the short run. In the short run, he

assumed that the factors of production, such as capital goods, supply of labor, technology,
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and efficiency of labor, remain unchanged while determining the level of employment.
Therefore, according to Keynes, level of employment is dependent on national income and
output.In addition, Keynes advocated that if there is an increase in national income, there
would be an increase in level of employment and vice versa. Therefore, Keynes theory of
employment is also known as theory of employment determination and theory of income
determination.

Principle of Effective Demand:

The main point related to starting point of Keynes theory of employment is the principle of
effective demand. Keynes propounded that the level of employment in the short run is
dependent on the aggregate effective demand of products and services.According to him, an
increase in the aggregate effective demand would increase the level of employment and vice-
versa.

Total employment of a country can be determined with the help of total demand of the
country. A decline in total effective demand would lead to unemployment.As per Keynes
theory of employment, effective demand signifies the money spent on the consumption of
goods and services and on investment.

The total expenditure is equal to the national income, which is equivalent to the national
output. Therefore, effective demand is equal to total expenditure as well as national income
and national output.

The effective demand can be expressed as follows:

Effective demand = National Income = National OutputTherefore effective demand affects
employment level of a country, national income, and national output. It declines due to the
mismatch of income and consumption and this decline lead to unemployment.With the
increase in the national income the consumption rate also increases, but the increase in
consumption rate is relatively low as compared to the increase in national income. Low
consumption rate leads to a decline in effective demand.Therefore, the gap between the
income and consumption rate should be reduced by increasing the number of investment
opportunities.

Consequently, effective demand also increases, which further helps in reducing
unemployment and bringing full employment condition.Moreover, effective demand refers to
the total expenditure of an economy at a particular employment level. The total equal to the
total supply price of economy (cost of production of products and services) at a certain level
of employment. Therefore, effective demand refers to the demand of consumption and

investment of an economy.
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Determination of Effective Demand:

Keynes has used two key terms, namely, aggregate demand price and aggregate supply price,
for determining effective demand. Aggregate demand price and aggregate supply price
together contribute to determine effective demand, which further helps in estimating the level
of employment of an economy at a particular period of time.In an economy, the employment
level depends on the number of workers that are employed, so that maximum profit can be
drawn. Therefore, the employment level of an economy is dependent on the decisions of
organizations related to hiring of employee and placing them.The level of employment can be
determined with the help of aggregate supply price and aggregate demand price. Let us study
these two concepts in detail.

Aggregate Supply Price:

Aggregate supply price refers to the total amount of money that all organizations in an
economy should receive from the sale of output produced by employing a specific number of
workers. In simpler words, aggregate supply price is the cost of production of products and
services at a particular level of employment.It is the total amount of money paid by
organizations to the different factors of production involved in the production of output.
Therefore, organizations would not employ the factors of production until they can recover
the cost of production incurred for employing them.

A certain minimum amount of price is required for inducing employers to offer a specific
amount of employment. According to Dillard, “This minimum price or proceeds, which will
just induce employment on a given scale, is called the aggregate supply price of that amount
of employment.”If an organization does not get an adequate price so that cost of production is
covered, then it employs less number of workers. Therefore the aggregate supply price varies
according to different number of workers employed. So, aggregate supply price schedule Id
Tut can be prepared as per the total number of workers employed.Aggregate supply price
schedule is a schedule of minimum price required to induce the different quantities of
employment. Thus, higher the price required to induce the different quantities of
employment, greater the level of employment would be. Therefore, the slope of the aggregate
supply curve is upward to the right.

Aggregate Demand Price:

Aggregate demand price is different from demand for products of individual organizations
and industries. The demand for individual organizations or industries refers to a schedule of
quantity purchased at different levels of price of a single product. On the hand, aggregate

demand price is the total amount of money that an organization expects to receive from the
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sale of output produced by a specific number of workers. In other words, the aggregate
demand price signifies the expected sale receipts received by the organization by employing a
specific number of workers.Aggregate demand price schedule refers to the schedule of
expected earnings by selling the product at different level of employment Mo higher the level
of employment, greater the level of output would be.Consequently, the increase in the
employment level would increase the aggregate demand price.

Thus, the slope of aggregate demand curve would be upward to the right. However, the
individual demand curve slopes downward. The basic difference between the aggregate
supply price and aggregate demand price should be analysed carefully as both of them seem
to be same.

In aggregate supply price, organizations should receive money from the sale of output
produced by employing a specific number of workers. However, in aggregate demand price,
organizations expect to receive from the sale of output produced by a specific number of
workers. Therefore, in aggregate supply price, the amount of money is the necessary amount
that should be received by the organization, while in aggregate demand price the amount of
money may or may not be received.

Determination of Equilibrium Level of Employment:

The aggregate demand price and aggregate supply price help in determining the equilibrium
level of employment.

The aggregate demand (AD) and aggregate supply (AS) curve are used for determining
the equilibrium level of employment, as shown in Figure-3:
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Figure-3: Determination of Employment Level

n Figure-3, AD represents the aggregate demand curve, while AS represents the aggregate
supply curve. It can be interpreted from Figure-3 that although the aggregate demand and
aggregate supply curve are moving in the same direction, but they are not alike. There are
different aggregate demand price and aggregate supply price for different levels of

employment.For example, in Figure-3, at AS curve, the organization would employ
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ONz number of workers, when they receive OC amount of sales receipts. Similarly, in case of
AD curve, the organization would employ ON1 number of workers with the expectation that
they would produce OH amount of sales receipt for them.

The aggregate demand price exceeds the aggregate supply price or vice versa at some levels
of employment. For example, at ON1 employment level, the aggregate demand price (OH) is
greater than the aggregate supply price (OC). However, at certain level of employment, the
aggregate demand price and aggregate supply price become equal.

At this point, aggregate demand and aggregate supply curve intersect each other. This point
of intersection is termed as the equilibrium level of employment. In Figure-3, point E
represents the equilibrium level of employment because at this point, the aggregate demand
curve and aggregate supply curve intersect each other.

In Figure-3, initially, there is a slow movement in the AS curve, but after a certain point of
time it shows a sharp rise. This implies that when a number of workers increases initially, the
cost incurred for production also increases but at a slow rate. However, when the amount of
sales receipt increases, the organization starts employing more and more workers. In Figure-
3, the ON1 numbers of workers are employed, when OT amount of sales receipts are received
by the organization.

On the other hand, the AD curve shows a rapid increase initially, but after some time it gets
flattened. This means that the expected sales receipts increase with an increase in the number
of workers. As a result, the expectations of the organization to earn more profit increases. As
a result, the organization start employing more workers. However, after a certain level, the
increase in employment level would not show an increase in the amount of sales receipts.

In Figure-3, before reaching the employment level of ON2, the employment level keeps on
increasing as the organizations want to higher more and more workers to get the maximum
profit. However, when the employment level crosses the ON2: level, the AD curve is below
the AS curve, which shows that the aggregate supply price exceeds the aggregate demand
price. As a result, the organization would start incurring losses; therefore would reduce the
employment rate.

Thus, the economy would be in equilibrium when the aggregate supply price and aggregate
demand price become equal. In other words, equilibrium can be achieved when the amount of
sales receipt necessary and the amount of sales receipt expected to be received by the
organization at a specified level of employment are equal.
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Consumption Function

Meaning

The consumption function or propensity to consume refers to income consumption
relationship. It is a “functional relationship between two aggregates, i.e., total consumption
and gross national income. “Symbolically, the relationship is represented as C= f(Y), where
C is consumption, Y is income, and/is the functional relationship. Thus the consumption
function indicates a functional relationship between C and Y, where C is the depend at and Y
is the independent variable, i.c., C is determined by YIn fact, propensity to consume or
consumption function is a schedule of the various amounts of consumption expenditure

corresponding to different levels of income.

A hypothetical consumption schedule is given in Here it is shown that when income is zero
during the depression, people spend out of their past savings on consumption because they
must eat in order to live.When income is generated in the economy to the extent of Rs 60
crores, it is not sufficient to meet the consumption expenditure of the community so that the
consumption expenditure of Rs 70 crores is still above the income amounting to Rs 60 crores
(Rs 10 crores are dissaved). When both consumption expenditure and income equal Rs 120
crores, it is the basic consumption level. After this, income is shown to increase by 60 crores
and consumption by 50 crores. This implies a stable consumption function during the short-
run as assumed by Keynes. Figure 1 illustrates the consumption function diagrammatically.
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Fig. 1.
In the diagram, income is measured horizontally and consumption is measured vertically. 45°
is the unity line where at all levels income and consumption are equal. The C curve is a linear
consumption function based on the assumption that consumption changes by the same

amount (Rs 50 crores).
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Ifable 1 : Consumption Schedule
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Its upward slope to the right indicates that consumption is an increasing function of income.
B is the break-even point where C=Y or OY1 = OC; When income rises to 0Y1 consumption
also increases to 0C», but the increase in consumption is less than the increase in income,
C1C2< Y1Y2 The portion of income not consumed is saved as shown by the vertical distance
between 45° line and C curve, i.e., SS’.“Thus the consumption function measures not only
the amount spent on consumption but also the amount saved. This is because the propensity
to save is merely the propensity not to consume. The 45° line may therefore be regarded as a
zero-saving line, and th